PAGE  
1

QUESTIONS  and ANSWERS

Question 1 

Part 1:

In calculating the costs, whose perspective/s would you consider to be of prime importance?

a. The Trade Union

b. The Workers
c. The Trainers
d. The Management
e. All of the above.
Correct answer: (e) All the parties involved will bear a greater or lesser portion of the costs.

Part 2:

Which of the following "input costs" will be borne by the consultants, Wola Nani?

a. Electricity, telephone and other communications

b. Use of condoms

c. Travel

d. Provision of space for counseling

e. Materials for posters

Correct answer: (c) Management will bear all the listed input costs, except travel, which will be borne by the consultants from Wola Nani.

Part 3:

Some costs fall under the category of "spin-off" costs.  For example, workers may wish to attend funeral services for workers passing away as a result of full-blown AIDS.  Who will bear most of the costs?

a. The consultants

b. The management

c. The trainers

d. The workers

e. All of the above

Correct answer: (b) Management will bear most of the costs of workers attending funeral services, because there will be a loss of productivity. Workers will bear some costs, such as travel to and from the funeral service. They should not have their wages docked, as this would naturally lead to considerable dissatisfaction.  

Part 4:

Costs can be divided into various categories, listed below.  If a locale has to be provided for the workshop, how would you categorize the costs involved?

a. Personel

b. Travel

c. Materials

d. Utilities

e. Capital commodities

f. Spin-off costs.

Correct answer: (e) Space provision falls in the category of Capital commodities.  This space would be needed for (i) accommodating the workshop attendees, and (ii) space for testing and counseling.

Question 2 

Part 1:

To whom do MOST of the benefits of the programme accrue? (Note that there may be more than one correct answer).
a. The Trade Union

b. The Workers

c. The Consultants

d. The Management

e. The Department of Health

Correct answer: (b) and (d) The blue collar workers and the management are the main beneficiaries of the program.

Part 2:

Who is most likely to benefit from reduced debility? (Note that there may be more than one correct answer).
a. The blue collar workers

b. The supervisors

c. The middle managers

d. The senior managers

e. The blue collar workers' families

Correct answer: (a) and (e) The blue collar workers and their families will benefit from reduced debility.

Part 3:

Who will benefit from reduced health care costs? (Note that there may be more than one correct answer).
a. The Department of Health

b. The blue collar workers

c. The company

d. The consultants

e. The Company's Medical Health Scheme

Correct answer: (b) and (e) The blue collar workers and the Company will benefit from reduced health care costs. Also, the Company's Medical Health Scheme will benefit from reduced payouts.

Part 4:

How do you react to the argument that the programme will result in increased productivity as a result of reduced absenteeism and reduced premature retirement and/or death?

The Department of Health

a. I strongly agree

b. I agree, but with reservations

c. I disagree, but there is some merit to the argument

d. I strongly disagree
Correct answer: (a) Any reasonable person would strongly agree with the argument!

Question 3 

Part 1:

We are going to estimate the cost of introducing HIV Education at the workplace, from the perspective of management only. We will do this exercize in stages.

Remember that Wola Nani charges R500 per workshop. The initial set of 5 workshops are designed to train the company's 50 safety representatives, who will become in-house trainers.  These will be divided in groups of 10 workers. What will be the cost, to management, of this initial phase?

Correct answer: Wola Nani charges R500/workshop for the train-the-trainer workshops only. That comes to R500 x 25 = R 12 500.

Part 2:

Assume that each workshop lasts 2.5 hr (which includes movement time). The initial set of 5 workshops are designed to train the company's 50 safety representatives, who will become in-house trainers.  These will be divided in groups of 10 workers. About 20% of the workers will not complete the whole programme.  This means that only 90% of the hours are completed. How many hours of production will be lost to management?

Correct answer: Staff time: initial workshops 2.5 hours each (workshop plus movement time) = 25 workshops x 10 safety representatives x 2.5 hours = 625 hours for safety representatives. However, there is a 20% fall off by the last workshop, hence 10% of the working hours lost.  This gives a total of 625 - 62.5 = 562.5 hours.

Part 3:

The workforce consists of 850 blue collar workers, 50 supervisors, 30 middle managers and 18 senior managers.  Everyone will attend 3 workshops lasting 2.5 hr (which includes movement  time)  in groups of 10 workers. About 20% of the staff will not complete the whole programme.  How many hours of production will be lost to management as a result of these follow-up workshops?

Correct answer: Staff time for follow up workshop: 285 workshops x 10 per group x 2.5 hours = 7125 hours.  Less 10% attrition = 6412.5 hours. This applies to all categories of workers. Hence blue collar time = 850/950 X 6412.5 = 5737.5, etc for other categories. (Supervisor = 337.5; Middle management = 202.5; Senior management = 121.5).

Part 4:

How much staff time will be taken up by follow-up testing?  You will need to look up the relevant data for this.

Correct answer: The follow up testing will occur with 20% of workers who start the programme = 190 workers at 2 hours each = 380 hours worth of time for both subject and nurse. Hence staff time = 380 hours. (Let us assume that all those seeking testing are blue collar workers). Also nurse time = 380 hours, evenly divided between professional and staff nurse, 190 hours each. Also, 85 workers (10%) go for off site testing. Assuming they take a morning off for this, 85 x 4 hours = 340 hours.  This gives a total of 1100 hours.

Part 5:

How much nurse time will be taken up by follow-up workshops and subsequent testing?  You will need to look up the relevant data for this.

Correct answer: Nurse time involves planning and arranging the workshops. 295 workshops at 0.5 hours each = 147.5 hours, split 73.75 to the professional and staff nurse each.  The actual testing and counselling is an additional 380 hours, evenly divided between professional and staff nurse, 190 hours each. This gives us a total of 337.5 hours.

Part 6:

How much time will be taken up by the medical officer?  You will need to look up the relevant data for this.

Correct answer: 190 staff will undergo testing.  Assume that 10% will be HIV positive.  This means that the MO will spend 19 x 0.75 = 14.25 hours.

Part 7:

Managerial staff, from supervisors to senior managers, will spend about 2 hours on meetings to plan, arrange and accomodate the programme.  How much time will be taken up by this?

Correct answer: There are 98 managerial staff members.  If they spend 2 hours each on meetings, then the total time spent will be 196 hours.

Part 8:

We have now all the relevant information needed to calculate the total cost to management of implementing the programme.  This is available in a spreadsheet.  Use the spreadsheet to calculate this cost to management based on the total time used.

Correct answer: The correct answer is R233488.  This is the cost of the time of all the participants.  The major part of this (63.1%) is the loss of production from the blue collar workers.  In the next part, we will look at other costs...

Part 9:

Apart from personnel costs, there are other costs involved.  These are tabulated in a spreadsheet.  Use the spreadsheet to sum up all these costs to management.

Correct answer: R26062.

Question 4 

Part 1:

We can work out the benefits (in terms of saved personnel costs) associated with the programme. This is equal to the cost of absenteeism of HIV/AIDS workers, and the death benefits paid out to their families.  Use the spreadsheet to sum up all these benefits.

Correct answer: R4767320.

Part 2:

We can work out the benefits (in terms of saved medical costs) associated with the programme.   Use the spreadsheet to sum up all these benefits.

Correct answer: R1296000.

Discussion: In the calculation of benefits due to reduced absenteeism/deaths, we have not taken into account

the productivity loss due to premature retirement is included in the insurance estimate 

   of R 200 000 

the impact of debility on actual productivity at the workplace 

the value of obviated side impacts (morale, labour disruption, etc)

In the calculation of the medical costs, we have not taken into account costs for AIDS patients when their medical aid cap is reached. Even though 50% falls on the patient, the 50% carried by employers is quite a lot given the high expenses demanded by AIDS treatment. This is therefore a gross underestimate.

Part 5:

We have worked out the costs involved in the HIV/AIDS prevention training, as well as the benefits that can accrue.  What is the cost to benefits ratio?

	COSTS
	BENEFITS

	Item
	Cost in Rands
	Item
	Cost of the benefit in Rands

	Salaries
	219164
	HIV absenteeism prevented
	588813

	Workshops
	2400
	AIDS related absenteeism prevented
	578507

	Workshop utilities (media, materials, etc.)
	11780
	AIDS deaths prevented
	3600000

	Capital
	2813
	HIV related medical expenses prevented
	1104000

	Testing
	2660
	AIDS related medical expenses prevented
	192000

	Spin-off costs
	6384
	
	

	Total
	245201
	Total
	6063320


Correct answer: The correct answer is 24.7.  This is very cost efficient, and you would probably be very stupid to turn the opportunity down.  

BUT!!!! The benefits accrue at a later point in time than the costs are incurred.  Given human nature, is it fair to consider them equivalent? The way we take care of this is by discounting.

